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CLASSE 1 C LICEO SCIENTIFICO 23 Gennaio 2015 Scomposizioni

0,001a®+1 = (0,1a+1)(0,01a%>—0,1a+1)

203 + ™3 4 M = 23 (2 + a0+ 2
2
a1°+a6+i+2a8+a5+a3=(a5+a3+§)

a3x2 — bSx2 — a3y? 4+ bSy? = a3 (x% — y2) — bO(x2 — y?) = (x2 — y2)(a® — b®) =
= (x — y)(x + y)(a — b*)(a® + ab® + b*)

2x3 —4x?2 - 3x+ 6 =2x%(x —2) - 3(x —2) = (x — 2)(2x% - 3)
lxz—fx+4=(1x—2)2

9 3 3

abx? —bx? —ax’+x*=x*(ab—b—a+1) =x*(b(a—1)—(a—1)) =x*(a—1)(b— 1)

x6 =y =3 —yHEP+y) = (x -y +xy +yH(x +y)(x* —xy +y%)

8a°® + 12 a*b® + 6a?b° + b*® = (2a* + b°)3
(2x +3y)? + (5x — 3y)? + 2 (2x + 3y)(5x — 3y) = [(2x + 3y) + (5x — 3y)]? = (7x)? = 49 x?
0,25 x% — y'® = (0,5 x3 — y°)(0,5 x3 + y?)

ax®>+2axy +ay* —x* = 2xy—y*=a(x*+ 2xy + y*) -1 (x* + 2xy + y?) =
=@ +2xy+y)(a-1D)=x+y)?*(a-1)

a’>—16a=a(a*—16) =a(a*+4)(a*—4) =a(a’> +4)(a—2)(a+ 2)

a’ —8ab®=a (a®—8b3) =a(a? - 2b)(a* + 2a’b + 4b?)



